TR A A A#fat 3R (2013/9/303R7E)

X% THX 4 5 = B HEH
FREHKX BLETHT 50 40 90 43
FRE#X L {chET 20 25 45 18
FREHKX {rhET 18 18 36 18
FRHE#X ABT—TH 10 12 22 11
FHREHX ABRTZTH 20 23 43 14
FRHE#X ABT=-mTH 24 24 48 26
FREHKX 3ET 30 36 66 32
FRE#X S HT 38 37 75 35
FHREHMX JCHT 42 76 118 48
FRE#X 37 HT 35 41 76 37
FHREHX ZAHHET 19 17 36 14
FHE#X SEEMET 20 29 49 23
FHREHX T £ FHET 43 51 94 42
FRHEHKX L FHT 42 39 81 45
FHREHX JEHT 59 60 119 63
FRHEHKX LEE 22 40 62 30
FREHKX FRAEET 18 30 48 26
FHE#X fin = ET 75 89 164 75
FHREHX N 394 422 816 373
FRHE#HX THRE 143 133 276 118
FHREHX fEA 86 111 197 88
FRHEX fi E 790 883 1,673 657
FHREHX i 94 119 213 81
FRE#X B3 51 51 102 40
FHEHX RBETRER 333 369 702 273
FREMX F K HET 355 476 831 319
FHREHX & AT 60 64 124 55
FRHEHKX L/ 480 511 991 332

FREMXE 3,371 3,826 7,197 2,936

HEHX AREETARZER 289 297 586 234
HERX KEP 119 107 226 80
HEHX opt:] 131 139 270 96
HWEHKX BRE 94 113 207 78
S X HE 85 105 190 86
WEHX s 12 12 24 8
B XET 730 773 1,503 582

KiFHh X ] 509 586 1,095 441
KiFih X 0 3BT 205 261 466 191
KiFHh X BE 336 358 694 284
RiFHh X kIl 64 78 142 52
KiTihX EEEF 68 77 145 54
KiFih X LtHE 150 156 306 103
KT X ThaE 158 145 303 91
RIEEih X TRE T 154 173 327 127
KiFHh X 7MLF 186 193 379 161
KiFih X REBF 332 377 709 302
KT X FAEF 364 406 770 374
KiFih X AR 6 22 28 28
KiFHh X HEYNE 104 109 213 65
KiFih X HIVHLE 514 525 1,039 384
KT ih X 22LyE 547 569 1,116 327
K13 X G550 0EY 3 13 16 16
RiEHh X Et 3,700 4,048 7,748 3,000
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TR A A A#fat 3R (2013/9/303R7E)

X4 THX 4 5 = B HEH
SfEHX FXRET1X 148 186 334 165
ITEHX FTRET2X 359 434 793 364
SfEHX FXRETIX 238 237 475 212
SL{EHX IMA{fEE—TH 246 339 585 266
e X MEEZTH 257 304 561 226
SLTEHEX MEBE=TH 583 602 1,185 431
STTEHEX IAEAEMTH 117 170 287 139
SL{EHX = THT 417 442 859 364
SI{EHX ) 274 300 574 240
SLTEHX [Faldne 688 766 1,454 567
SfEHX FTRET R HEE 143 148 291 156

SfER X ET 3,470 3,928 7,398 3,130

KIIPHET P=E 67 80 147 52
KINAHET INER 63 80 143 52
KJIINET i 224 243 467 180
KIINPHET et 50 45 95 42
KIIPET KINALL 96 110 206 76
KIINHET 1IEHis 71 82 153 59
KIIPHET = H 108 124 232 86
KINAHET 25 127 136 263 95
KIIPHET TE 234 252 486 194
KIIPHET BIZIE] 28 61 89 89
KRINAETET 1,068 1,213 2,281 925

28T f=H 50 52 102 32
=11 P 28 34 62 18
28T Fi& 26 27 53 21
2)IET KEJ| 112 130 242 87
21187 By 51 52 103 43
21187 15E 178 180 358 136
28T INEI 96 99 195 72
=) bl 113 127 240 98
2JIET 218 44 43 87 39
21187 IR 67 75 142 52
21’7 AEK 26 26 52 23
2187 - Eag 23 20 43 11
28T i B 36 39 75 22
28T ZH 37 48 85 25
2JIET TtE 37 34 71 23
28T A 103 123 226 65
=1 HT RE 54 57 111 27
2187 BEFH 77 108 185 56
28T 2 ¥ i 469 247 716 391
2)1ET HEE 2 12 14 14
2 BTET 1,629 1,533 3,162 1,255
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TR A A A#fat 3R (2013/9/303R7E)

X4 T4 5 = B HEH

K % 2 HT Kiz 110 112 222 67
K % 2 HET BES 10 12 22 10
K% EET GEii 108 113 221 69
K% EET HEFE 48 60 108 44
K% EET B 43 41 84 24
K % 2 HET TN 60 69 129 38
K% EET EEBIRE 44 40 84 21
K % 2 HET =e]il] 66 56 122 41
K% EET puipEs 57 64 121 41
K % EET g 101 114 215 62
i % 2 ET EE 70 59 129 42
K % 2 HET B8R 51 65 116 35
K % EET st 96 79 175 50
K % EET b 355 378 733 256
%IRRT ET 1,219 1,262 2,481 800

BREL =gl 53 57 110 32
R S HT L 132 133 265 73
PR Z BT KINE 126 145 271 82
R Z HT INER 47 51 98 30
FER ZHT 8T 70 91 161 51
FER ZHT FFE L 149 166 315 93
FER ZHT [REE 161 162 323 93
FER ZHT HFH 210 214 424 144
R Z BT =i 60 71 131 39
R ZHT Bk 1 1 2 1
FER ZHT pN:i 49 52 101 31
R ZHT K& 72 77 149 49
FER ZHT HE 66 60 126 28
R ZHT a0 42 50 92 23
FR ZHT ER S 58 75 133 36
ZR:ELIES 1,296 1,405 2,701 805

KIJIET ' 154 184 338 136
KIIET A 56 58 114 52
KINET PRI 93 101 194 64
KJIET HF0O 108 109 217 57
KINET & 95 109 204 67
KJIET JIFg 96 103 199 66
KIIET HOAE 0 0 0 0
K JIET Eqne 158 175 333 103
KIIET )l 220 257 477 180
KJIET e 100 121 221 64
KIIET RHAX 51 55 106 35
KJIET JIR 81 97 178 63
KIINETET 1,212 1,369 2,581 887
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TR A A A#fat 3R (2013/9/303R7E)

X4 T4 5 = i HEH
NI E%) 124 137 261 92
¥ ET L& 67 64 131 39
N T& 219 265 484 187
NI TF 91 113 204 85
NTL 7%= 36 47 83 30
T EiR 63 74 137 47
N o 89 85 174 60
T &R 114 123 237 78
N ABRK 38 33 71 28
T ¥ 99 128 227 85
KA ET 5 106 116 222 73
T = oB::] 97 98 195 69
N o)l 65 59 124 41

FAHETET 1,208 1,342 2,550 914

—EHr B/I\AH 756 854 1,610 678
ZEBH m/\ &5 240 252 492 203
—EHr JNE 767 838 1,605 666
BT KE 562 558 1,120 409
—EHr s 106 103 209 105
—EBHET ADE5 107 127 234 96
—EHr R 189 250 439 183
ZEBH EHF 90 111 201 81
—BHr f H 68 84 152 61
ZEBH Lo 51 57 108 43
—BH A 57 67 124 46
BT haF 36 41 77 36
ZBETEt 3,029 3,342 6,371 2,607

B ET g 559 608 1,167 471
BILACHET f=2#0 69 54 123 53
BILACET RE 1,045 1,052 2,097 826
BILACET BHE 76 68 144 50
BILACET X fH 89 89 178 76
BILACET ko 183 204 387 141
BILACET ENIN 159 187 346 133
BILACET HAAR 106 105 211 85
BILACET RAR 206 218 424 162
BILACET e 167 195 362 163
BILACET ER 65 81 146 68
BILACHET T& 11 11 22 8
BILACET E)IN 95 90 185 83
B ILACHET ToE 5 9 14 7
BILACET NAEF 91 94 185 64
HILCHET BB 10 4 14 5
BILAHTET 2,936 3,069 6,005 2,395
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TR A A A#fat 3R (2013/9/303R7E)

X% T4 5 = i HEH
LA ET RAE 268 308 576 260
(L ET WA 455 479 934 391
L ACHET =INA 57 67 124 52
L ET b 78 88 166 64
L ACHET i 55 52 107 47
L ET Ba 132 165 297 139
LA ET AR—RX 245 253 498 200
AT ARZRK 362 414 776 335
LT AR=ZR 124 140 264 115
L ET b prd 171 194 365 169
LT NN 110 136 246 125
L ET s 121 124 245 97
L4 ET B[ 107 133 240 130
L ET [ikz) 131 121 252 87
LA ET BRAR 40 40 80 33
L ET ¥7 2 58 44 43 87 28
LA ET E%) 64 63 127 46

(BT ET 2,564 2,820 5,384 2,318
T 27432 29930 57,362 22554
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